—JIHR EHA R T
K EFNTTE
R (Al 2 e DU 26

= 15 Bt AR E
= LAMHE A RBTRR
A ALY 14

s/} S Y e
. # P G Tl A4 T T
v T haEmRkR,
A Bl 5 T 41 LA 3]

X4 TAER U &AW
BARHEA T, B R
() T3 AR, 0y T AR
TFATRE & A B A L, B
DL Y B A R R 4
A R B LU ik Ad
.

1. WA A A W T
B 55 — AN 2 1 1 18 T 2
A TR)E R A A A R]E i
A W E A R TS
A i A R WO B A B
T 25 24 A A 89 A )
PR Z 5 1E R TR
FR. MU RBU TR WS = (SR B0 AR — 4 W 1
TR - SIS R L . A LA A R
S TR T——4& R BA R B 5 R

2. WS A AT B9 LU 20 B 24 ) A ek
AR A RSO, BT ARG R P 28 75 © 4254, 0 T4
VUG BRI A TR B0 R e S T HE BT R e s = (&
[FIFH S SA — & R T S x (1— Bt 52 THEE ) .

3. LIRGIIE E TR A Wi R e, A A R W R
A AR B % AR, 5 R T 3G sl i
MBS A . SR R S = (A R B AR
A=A R B ) x (1- Bi158 TEE ) - URT4EBERIA Y
AWM . AP <DL Rl m) & IR BT
RUEE S A M A —— A R B R R BRI
GO A AR IS FIZ AT 4 0 A W) BT 2 v A it L i
SEZESRIE , BLAME G R B0 S A s A B A R o 67,
PR A ) T 0 A v o

Z ARWIHRk EEHN ST E

it AR A TR TR S o gt JOE38 sk % P Ul AR
R——a B R”  AE 5B e e —— & R T 40 25 e
R B U TR A B AR 5 4 TR H 25 AR sh 1
DU, AT 4E4R A TR TR A 1 MR A A R 58 T
SEAHIN ik S

i) H HE TR R H 2004 4E 1 bR T —3 A T
TR AR 600 170, TAET 2004 4£ 2 AFF T,

038 M& ATI(&£1t)2007. 10

32 3 9% R
R By S

3

it 2007 4£ 9 H 58 1..2004 4EA R H S A K 480 TG,
{EL R TR AR AR S R AT, AR AE T T A AR 24945 AR
k..2005 4EF0 2006 A R T B AR 43128 620 776,610
T3 76,2007 45, Rl 581 I A AR S 158 TP~ A, 350l T
FEF 2007 4 11 A58 T Gbhia, b 32 R R S AHEDSR T3
60 J7 G TR HAAT BRI T 25

A5 T

byl B 20044 | 20054 | 20064 | 20074 | A& it
PN CREON 150 180 150 180 660
FIRE A A 120 | 221 147 | 127 | 615

R ERA A mA|l 120 | 341 | 488 | 615
) F R A 360 | 279 | 122 -
T4 LSRN 130 | 240 | 150 | 140 | 660
TR 94 F) 2k 100 | 200 | 100 | 260
Rt R T# B 25% | 55% | 80% | 100%

BATIN A TR 2 Ban T CRfRTLE WL, RAEH)
NGO & T SR ST a8 6 M T TR 28 AT 2
S

2004 4 HHIAIE A =600%25%—0=150( T 7T ) ; Bk
B4 R ] =(600—480 ) x25%—0=30( JT IT ) Al & [F] T3+ Sl
ARFHI B, TR & Wk it bl 278
b 55 A 120 76, TG T——4 FEA 30 T1oG; 6% 18
v S A 150 17T

2005 4 HiTA A R A =600%55%—150=180( JT JL. ) ; 1
NI TR B ) =(600-620) x55%—30=—41 (J1 70 ) ; BHIA &
R T4 2% i £ = (620—-600) x (1-55% ) —0=9(JT JC. ) o £ 1153
Ty A8 FEN S A 221 TTIG; 5 FE S 180 71
I, LR T —— & RBH] 41 TT 008 i e —&
[FIW R 9 T o0 0% AF IR ER M R —— A R Wi T 2k i 4
9 JIJTe

2006 4F : BN BB A A =600%80%—150—180=150 (i
IG) ; B IA 1Y A [F 6 F = (600 —610 ) X 80%—30—(—41)=3(J1
I8 ) s BN A& R T R 4 =(610-600) X (1-80%) —9=—7
(FIC) o 334338 2R A EEM 55 A 147 oG, TR
T——5FBH 3 J70; 58 BB WA 150 TG A5 8=
WA R——E RBH A 7 7570 5% A5 A i ——
AR HER 7 T ot.

2007 4. A R A =600+60—-150—180—150=180
(I8 HA & R B Fl=660-615—30—(—41)—3=53(
I8 ) s & R 58 TG A R A =9 +(=7)=2(7 70 ).

AETRETT T, DO TR T4 Rk
WEAS LR, P TR T 5 “ TR 3B H 4 . 231
Sty OffF . FE 5 A 127 10, T T—& RS
F) 53 TG 5% FE S A 180 T3 I6. QA 70 B M i
FHr——E FEBEHR R ESR 2 T o0 5% BB S AR 2 Tk,
O : TARLEF 660 J1 o0 0% : TR T——A& FAA 615 5
It ——HREF 45 Ht. O



